<?xml version="1.0" encoding="utf-8"?>
<MHCR>
<Organization>
<CHIAOrgID>9999</CHIAOrgID>
<CHIAOrgName>Massachusetts Hospital</CHIAOrgName>
<FilingYear>2013</FilingYear>
</0Organization>

<Tab TabID ="13">
<TabName>Statistic for General Cost Stepdown</TabName>

<Sequence SeqID="1">
<Row RowID="4">
<HCRIS>00400</HCRIS>
<Column ColumnID="1">
<ColumnName>Capital Related Costs-Buildings &amp; Fixtures</ColumnName>
<ColumnValue>338</ColumnValue>
</Column>
<Column ColumnID="2"> -
<ColumnName>Capital Related Costs-Movable Equipment</ColumnName> >
<ColumnValue>118</ColumnValue> ®
H
</Column>
</Row>
</Sequence>
<Sequence SeqID ="2">
<Row RowID ="5">
<HCRIS>00500< /HCRIS>
<SubRow SubRowID="5.01">
<SubRowSeqID>3</SubRowSeqID>
<SUbROWHCRIS>00591</SubRowHCRIS>
<SubRowName>Other Administrative &amp; General</SubRowName>
<Column ColumnID ="1">
<ColumnName>Capital Related Costs-Buildings &amp; Fixtures</ColumnName>
<ColumnValue>9286</ColumnValue>
</Column>
<Column ColumnID ="2">
<ColumnName>Capital - Movable Equipment</ColumnName>
<ColumnValue>4477</ColumnValue>
</Column>
<Column ColumnID ="5A">
<SubColumn SubColumnID = "S5A.01"> L
<SubColumnName>Reconciliation</SubColumnName> g
<SubColumnValue>-1348127</SubColumnValue> (3, ] 0
</SubColumn> o 8
</Column> = - ;
<Column ColumnID = "5"> 5 )
<SubColumn SubColumnID = "5.81"> ® o =
<SubColumnName>Other Administrative &amp; General</SubColumnName> wn o a3
<SubColumnValue>16032592</SubColumnValue> 8 E 3
</SubColumn> 0 3.
</Column> ) =S
</SubRow> ©o 3
<SubRow SubRowID = "5.02"> =
<SubRowSeqID>4</SubRowSeqID> o
<SubRoOowHCRIS>00590</SubRowHCRIS> S
<SubRowName>A &amp; G Hospital Only</SubRowName>
<Column ColumnID ="1">
<ColumnName>Capital - Buildings &amp; Fixtures</ColumnName>
<ColumnValue>@</ColumnValue>
</Column>
<Column ColumnID ="2">
<ColumnName>Capital - Movable Equipment</ColumnName>
<ColumnValue>157968</ColumnValue>
</Column>
<Column ColumnID ="5A">
<SubColumn SubColumnID = "S5A.01">
<SubColumnName>Reconciliation</SubColumnName>
<SubColumnValue>125012</SubColumnValue>
</SubColumn>
<SubColumn SubColumnID = "5A.@2"> c
<SubColumnName>Reconciliation</SubColumnName> a
<SubColumnValue>-2164055</SubColumnValue> w1
</SubColumn> =)
</Column> N
<Column ColumnID ="5">
<SubColumn SubColumnID = "5.01">
<SubColumnName>Other Administrative &amp; General</SubColumnName>
<SubColumnValue>2119999</SubColumnValue>
</SubColumn>
<SubColumn SubColumnID = "5.02">
<SubColumnName>A &amp; G Hospital Only</SubColumnName>
<SubColumnValue>14904293</SubColumnValue>
</SubColumn>
</Column>
</SubRow>
</Row>
</Sequence>
</Tab>
</MHCR>
Fictional Cost Report Example — Tab 13
1 2 52, 5 52,01 501 5402 502
Capital - Capital - Other
Buildings & Movable Administrative Administrative A & G Hospital
Fixtures Equipment and General | ReconGnauon & General Reconcihation COnily
Suby
Lirve # L.Iw HCFRIS Square Feet Dellar Value Accum. Cost Accum. Cost Accum. Cost

General Service Cost Centers

4 00 | 00400 |Employes Benefits Department 338 118

<] [11] 00500 | Administrative and General

5 01 | 00531 |Owher Administrative and General 9,286 4,477 (1,348,127) 16,032,592

5 | 02 | ooss0 | AkG Hospital Only 0 157,968 125,012 2,119,999 (2,164,055)| 14,904,293




